Caster Headtubes and Hardware
Xtra/Jr.
(Built After 3/03)




Caster Headtubes and Hardware

Xtra/Jr.
(Built After 3/03)
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1055349 Screw, Hex Head (1/4-28 x 2") 1 2
2 1076369-NLA | NLA - Headtube, Caster, Black - Right 1 1
2 1076370-NLA | NLA - Headtube, Caster, Black - Left 1 1
3 1055366 Locknut (1/4-28) 1 4
4 1040759-NLA | NLA - Bracket, Headtube Adjustment, Black - Right 1 1
4 1040760-NLA | NLA - Bracket, Headtube Adjustment, Black - Left 1 1
5 1040766 Cam, Headtube Adjustment 1 2
6 A 1055296-NLA | NLA - Screw, Hex Head (1/4-28 x 1") 1 2
6 B 1055347-NLA | NLA - Screw, Hex Head (1/4-28 x 1-1/2") 1 2
7 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
8 1055332-NLA | NLA - Screw, Socket Flat Head (1/4 -28 x 1-3/4") 1 2
9 C 1046147-NLA | NLA - Kit, Caster Headtubes w/ Hardware (Pair) 1 1
10 1113501 Screw, Eccentric (1/4-28 x 1-11/16") 1 4
11 1113576 Headtube, Caster, Black - Right 1 1
11 1113577 Headtube, Caster, Black - Left 1 1
12 1009861 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
13 1026907 Washer (1/4 x 1/2 x 1/16") 1 4
14 D 1114704-NLA | NLA - Kit, Caster Headtubes w/ Hardware (Pair) 1 1
NOTE: A - Chairs without Transport Option
B - Chairs with Transport Option
C - Fixed Front Frames. Includes items 1-8.
D - Swingaway Front Frames. Includes items 3,7, & 10-13.




